Exercise
Q1. List the members of these sets?

a) {x/x ix a real number such that x^2=1}

      Ans. {-1, 1}

b) {x/x is a square of an integer and x<100}
     Ans. {0, 1, 4, 9, 16, 25, 36, 49, 64, 81}

c) x/x is positive integer less than 12}

Ans.{1,2,3,4,5,6,7,8,9,10,11}
d) [x/x is an integer such that x^2=2}

Ans. { }

Q#2 Show the following in set builder notation?

a) {0, 3, 6, 9, 12}

Ans. {3x/x ЄW ^ x<5}

b)-3,-2,-10, 1, 2, 3}
Ans. {x/xЄZ^-3≤x≤3}

c) {m, n, o, p}

Ans. {x/x is a set of alphabets ^ m ≤ x ≤p}

Q#3 Determine whether each of these pairs of sets are equal?

a) {1, 3, 3, 3, 5, 5, 5, 5, 5} and {5, 3, 1}

Ans. Yes.

b) {{1}} and {1, {1}}

Ans. No

C) {Ф} and Ф

Ans. Yes

Q#4 which of these are sub sets of each other?

  A= {2, 4, 6}     B= {2,6}    C= {4,6}      D= {4,6,8}

Ans. B

Q#5
